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A <180 N, F=90N, b =100 mm
sing = ——% i
v at + v’ A
% a = Va+b
2
(% a> = a® + b’
2
(5] 1] =
2 _ b’
a® = VRS
[(7) - 1]
A a
a = b = 100 mm = 57.7 mm
EA
F 90 N
4.76 [ ,

W = (20 kg)(9.81 m/s®) = 196.2 N
R=01m, t=0.008m
o = 90° - 30° = 60°
_ R—t _ (0.1—0.008)m _
cosg = e 01m = 0.92
B = cos0.92 = 23.1°

6 =180° - o - g = 180° - 60° - 23.1° = 96.9°

sine rF W
sin@ ~ sinf
p= Ws%nﬁ
sinf
_ sin23.1°
= (196.2 N) Sin96.9° - 77.54 N

P=775N 30°

T

a = 57.7 mm
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F =36 N
dysp = 38 cm,

d =20 cm, d; =21 cm

dy = (20 cm) + (40 cm) - (30 cm) = 30 cm
_ 38cm _
tana = Wem 1.9

a = tan™'1.9 = 62.2°
d; _ 2lcm
dy, ~ 30cm

B = tan™'0.7 = 35.0°

dap _
dl -

dap

tang =

= 0.70

v

y=a - =622° - 35.0° = 27.2°

0 =180° - g - v = 180° - 35.0° - 27.2° = 117.8°

sine
siny _ sinf
T—-F T

T siny = (7T - F) sing
T (sing - siny) = F sing

sing _
sing — siny (36 N)

7= sind5.0

sin35.0° — sin27.2°

sinfg _ sinf
r — C
_ sinf _ sinll17.8° _
c=T sing (177.3 N) sin35.0° 273.4 N

= 1773 N

C =273 N



